P2 RS ZE1TEBIEYL

P2 Series Precision Planetary Reducer




W #5425 Model Naming Mode

/ A*B/C*D/E*F
® BIMFERERT
P 2 E 120 - 4 - P2 - OPA1 / {54#130ST-M06025B-41P5
1 @ 3 @ ® ® @ ® BUlBERBEHNES
/ AQA130/1
B WMANBEOEmMRES
P: Betar P& 35— B 21T 2R
1 P #35:
WP: Betar WP R FI+F#EEZTEREN :  ({(XRILES60, 80,120,160%! )
2: BB ESEER
2 2 RRAS: - : =
3: EEWHEEMERX (XRYES120,1608, KEHAEL2SMAR2M:E )
E: SLGhEIH, B4 kL s
) F: ST, BoHiH k= %est
3 E HH=EAX
G: THEEE, BI4BIHEZRE
H: =0, BoMit EZRs
4 120 HES 40, 60, 80, 120, 160
BZ5(L1): 3, 4, 5, 8, 10
5 4 OELE - Wk(L2): 9, 12, 15, 16, 20, 25, 32, 40, 64
=%(L3): 60, 80, 100, 120, 160, 200, 256, 320, 516
EES BT | P2: tRER
L1 <12arc-min
P2%3%140 L2 <15arc-min
L3 <18arc-min
P2%3160 L1 <8arc-min
P2%5%180 -
P2Z5(120 L2 <12arc-min
P2%7%1160 L3 <15arc-min
L1 <30arc-min
WP2% %160 L2 <35arc-min
6 P2 B EESR: L3 <40arc-min
WP2% 51180 L1 <25arc-min
WP2%7%1120 L2 <30arc-min
WP2%7%1160 L3 <35arc-min
2EES ERE | P2: tREER P1: #RfEE!
L1 < 8arc-min <5arc-min
Paf#I120 L2 <12arc-min <8arc-min
P3# 31160 L3 <15arc-min <10arc—min
L1 <13arc-min
WESa1A0 L2 <16arc-min
WP3#51160 L3 <20arc-min
OP1: 37, $iEBMAFNBE R
. . OP2: #Ef&7l, HiIRBXHHARCERERR
v e MABRIERT OP3: @Hi7l, IE8iEBERMBXIERS
OP4: L ERE R
A*B/C*D/E*F BlEFERER: HEMMEK/AEO I OK/ZEA DR EREAE  (FRLP13)
8 {5#E130ST B MmERBEINES. FALAAE R B S
AQA130/1 MANEOEREES . AQA40 - AQA175 (i£ILP13)

Bo



P2E/P2F & S5 Z1T EIRIEHL

P2E/P2F series precision planetary reducer

M ~=&E Product Graph

B A S% Technical Parameters

\ 10 : ‘ 2 ‘
4.5 12 40 80 | 400

3
6 16 50 110 450 4
6 16 50 110 450 5 L1
5 15 45 100 400 8
4 12 40 80 305 10
/ 40 100 210 / 9
16.5 40 100 210 700 12
16.5 40 100 210 700 15
20 44 120 260 800 16
HERH S N.M 20 44 120 260 800 20 |52
Rated output torque . 18 40 110 230 700 25
20 44 120 260 800 32
18 40 110 230 700 40
73 18 45 100 400 64
16.5 40 100 210 / 60
20 44 120 260 / 80
20 44 120 260 / 100
16.5 40 100 210 / 120
20 44 120 260 / 160 L3
18 40 110 230 i 200
20 44 120 260 / 256
18 40 110 230 / 320
75 18 45 100 / 512
#fn Life /NEF Hour 20000
B 18] 2= 414E Instant stop torque | N.M 2f= FHEHH 45 Two times of rated output torque

K {ZEH Max radial force | 160 450 900 | 2100 | 6000 N

A5 51 Max axial force 80 225 450 | 1050 | 3000 N
96 L1
W EZE Full load efficiency 94 % L2
90 L3
0.4 0.8 2.1 6 18 L1
=& Weight 05 | 1.1 2.6 8 2D Kg L2
0.6 148} 3.1 9.5 / L3
T{EiRE Operating temperature -25~+90 T
RIPELR IP IP54
@78 A= Lubrication type #2 5 i@ 7& Lifetime lubrication
£33 Mounting type £ Any

RAZEEASRKHE AN, HH100RPMES, (EAFHHMHOIEL/2)4,

The max radial and axial torque work in the location of the center of output shaft when the out speed is 100RPM.

B03



P2E/P2F R FIEZRITE

BRI

P2E/P2F series precision planetary reducer

B 3RS % Technical Parameters

RS

Moment of inertia

Kgem?2

0.031 0.135 0.77 2.63 12.14 3
0.022 0.093 0.52 1.79 7.78 4
0.019 0.078 0.45 1.583 6.07 5
0.017 0.065 0.39 1.32 4.63 8
0.015 0.054 0.34 1.14 3.52 10
/ 0.131 0.74 2.62 i 9
0.022 0.088 0.50 2.56 7.47 12
0.019 0.077 0.44 1.79 6.65 15
0.022 0.088 0.50 1.75 7.47 16
0.019 0.075 0.44 1.50 6.65 20
0.019 0.075 0.44 1.49 5.81 25
0.017 0.064 0.39 1.30 4.50 32
0.016 0.064 0.39 1.30 4.50 40
0.016 0.064 0.39 1.30 4.50 64
0.019 0.075 0.50 1.50 U 60
0.019 0.075 0.50 1.50 / 80
0.019 0.075 0.44 1.49 1 100
0.016 0.064 0.39 1.30 / 120
0.016 0.064 0.39 1.30 / 160
0.016 0.064 0.39 1.30 / 200
0.016 0.064 0.39 1.80 / 256
0.016 0.064 0.39 1.30 / 320
0.016 0.064 0.39 1.30 / 512

i <12 <8 <8 <8 <8 L1

R g <15 <12 <12 <12 <12 2

<18 <15 <15 <15 / L3

HH M Torsional stiffness N.M/arcmin 0.7 1.8 4.5 12 38 L1

&7 Noise db(A) 55 58 60 65 70 L2

&5 HNFE#E Max input speed min-1 4500 4500 4500 4500 4500 L3
HEFMAFEE Recommnd input speed min-1 3000 3000 3000 3000 3000

1. BHRESWAMEX,

The moment of inertia is related with input shaft.
2, BEWIRE, BEE1R, TEMANREEI0005/ 5 EHAMS,

Noise test standard pressure level, distance 1 m, measured on idle running with an input speed of 3000rpm.

B04



P2ER FI1EZ1T EIRIEH

P2E series precision planetary reducer

M Y 5% Dimensions

it Output

L1

L7

-

D6

L9

B E I Unit: mm

I\ Intput

S — @ REE—SREWE

7= @EIS Product type P2E40 P2E60 P2ES0 P2E120 P2E160
Z5#5 Number of stage 2 3 1 2 3 1 2 1 2 3 1 2
L1 $#84k &4 L1 overall length 106.5| 119 [113.5/126.5| 139 | 144 | 162 |179.5|195.2| 223 |250.5| 291 [340.5
L3 % K B L3 body length 52 | 64.5|465|595| 72 | 60 | 78 |955 |73.7 [101.5| 129 | 104 |153.5
By Hi% Output

L4 HihiK B L4 output shaft length 26 35 40 55 87

L5 H# Z 4 E L5 output length to the shaft shoulder 24 30.5 36 50 80

L6 #1 & L6 key length 16 25 28 40 70

L7 @ =R %K L7 key length to the shaft end 25 25 4 5 5

L8 E i & E12 L8 spigot length 2 3 3 4 5

D4 H#hE 2 D4 output shaft diameter $10h7 $14h7 $20h7 $25h7 $40h7
D5 %5 E 12 D5 shaft shouder diameter $12 $17 $25 $35 $55
D6 Efir i & E R D6 spigot diameter $26h7 $40h7 $60h7 $80h7 $130h7
D7 #{&kE%E D7 body diameter $40 $60 $80 $115 $160
D8 %% 74> % [& D8 hole circle $34 $52 $70 $100 $145
B1 §#%E B1 key width 3 5 6 8 12

H1 #5 H1 key height 11.2 16 22,5 28 43
G2 R 4Fl G2 mounting screw hole M4 x 6 M5 x 8 M6 x 10 M10x 16 M12 x 20
G3 FuhE4LFL G3 center screw hole M3 x 9 M5 x 12 M6 x 16 M10 x 22 M12 x 25
% Input

L2 B NEZKE L2 input flange length 28.5 32 44 66.5 99

L9 FEEH5H1K B L9 motor shaft length 26 30 40 58 79
L10 E{LN &R L10 spigot depth 6 10 10 10 10

D1 2% FL4% B D1 mounting hole distribution circle $46 $70 $90 $145 $200
D2 Efiifh&HE1Z D2 spigot diameter $30G7 $50G7 $70G7 $110G7 $114.3G7
D3 #N\#h%#H42 D3 input shaft diameter < $8G7 < $14G7 < $19G7 < $24G7 < $35G7
G1 RIEELFL x IRE G1 mounting threads x depth M4 x 10 M5 x 12 M6 x 15 M8 x 22 M12 x 25
Q3 #A %= Q3input flange 140 160 180 130 175

BOS

NIRRT AR R RALR T HIE

Input size made according to motor size.



P2F R I H1T B RUE

P2F series precision planetary reducer

B Hl#2% Dimensions

i Output

B E {7 Unit: mm

N Intput

23
2

FamZES Product type

P2F40 P2F60 P2F80 P2F120 P2F160
¥ Number of stage 1 2 3 1 2 3 1 2 | 3 1 2 3 1 2
L1 #1454 L1 overall length 93.5|106.5| 119 {113.5/126.5| 139 | 144 | 162 |179.5[195.2| 223 |250.5| 291 |340.5
L3 #5164 B L3 body length 39 | 52 |64.5|465(59.5| 72 | 60 | 78 |95.5|73.7 |101.5| 129 | 104 |153.5
Mt % Output
L4 H3 E L4 output shaft length 26 35 40 55 87
L5 H#h Z 45 L5 output length to the shaft shoulder 24 30.5 36 50 80
L6 # K L6 key length 16 25 28 40 70
L7 #EH KR L7 key length to the shaft end 25 2.5 4 5 5
L8 EfI & H7Z L8 spigot length 2 3 3 4 5
L11 #iH % =2 E L11 output flange thickness 6 8 10 15 15
D4 H#E2 D4 output shaft diameter $10h7 $14h7 $20h7 $25h7 $40h7
D5 #J§ H7& D5 shaft shouder diameter $12 $17 $25 $35 $55
D6 EfI & H1Z D6 spigot diameter $26h7 $50h7 $80h7 $110h7 $130h7
D7 4k E12 D7 body diameter 45 60 190 0120 [J160/(1175
D8 &% 74> %5 [E D8 hole circle $50 $70 $100 $130 $185/ $200
D9 &= %% 7. D9 mounting hole $3.5 $5.5 $6.5 $8.5 $11/$13.5
B1 423 B1 key width 3 5 6 8 12
H1 &5 H1 key height 11.2 16 225 28 43
G3 F 247l G3 center screw hole M3 x 9 M5 x 12 M6 x 16 M10 x 22 M12 x 25
HiH 3% Input
L2 M NEZKE L2 input flange length 28.5 32 44 66.5 99
L9 FHI% B L9 motor shaft length 26 30 40 58 79
L10 B &R L10 spigot depth 6 10 10 10 10
D1 %% 714 % [E D1 mounting hole distribution circle $46 $70 $90 $145 $200
D2 E {4 E12 D2 spigot diameter $30G7 $50G7 $70G7 $110G7 $114.3G7
D3 #i N 43672 D3 input shaft diameter < ¢8G7 < ¢$14G7 < $19G7 < $24G7 < ¢35G7
G1 RIEBLYFL x RE G1 mounting threads x depth M4 x 10 M5 x 12 M6 x 15 M8 x 22 M12 x 25
Q3 #IN %= Q3input flange 40 160 180 1130 0175

B N3 R T TR 8 B AL R T AIE o

Input size made according to motor size.

BOG



WP2E/WP2F & 15 %17 B B
WP2E/WP2F series precision planetary reducer

M ~=&%E Product Graph

B AR5 % Technical Parameters

12 40 80 400

3
16 50 110 450 4
16 50 110 450 & L1
15 45 100 400 8
12 40 80 305 10
40 100 210 / 9
40 100 210 700 12
40 100 210 700 15
44 120 260 800 16
MEMEAE 44 120 260 800 20 L2
Rated output torque Bl 40 110 230 700 25
44 120 260 800 32
40 110 230 700 40
18 45 100 400 64
40 100 210 / 60
44 120 260 / 80
44 120 260 / 100
40 100 210 / 120
44 120 260 / 160 L3
40 110 230 / 200
44 120 260 / 256
40 110 230 / 320
18 45 100 I 512
#fn Life B Hour 20000
[ B = 1= 4148 Instant stop torque N.M 2= FEEL HH4E Two times of rated output torque
_ P ®WSPoducttype [ 60 [ 8 [ 120 [ 160 [ &frUnt [ %% Nunmber of stage
K128 7 Max radial force 450 900 2100 6000 N
£ A%hE 71 Max axial force 225 450 1050 3000 N
94 L1
W ERZE Full load efficiency 92 % L2
88 L3
1.7 4.4 12 36 L1
E=8 Weight 1.9 5 14 40 Kg L2
281 5.5 16 Il L3
T{Ei&E Operating temperature -25~+90 T
RIPELR 1P P54
385 Lubrication type 2% 5358 Lifetime lubrication
L% 7 Mounting type f£E Any

RAREANESRAHEAN, HH100RPMES, &R OB (L/2)4k

The max radial and axial torque work in the location of the center of output shaft when the out speed is 100RPM.

BO7



WP2E/WP2F & 515 % 1T 2 iR
WP2E/WP2F series precision planetary reducer

W 3 ARS% Technical Parameters
_ ™@®SProduttype | [ 60 | 80 [ 120 | 160 | ikt Reductionratio

0.246 1.189 5.75 24.5 3
0.204 0.939 3.91 19.4 4
0.189 0.869 3.35 175 5
0.176 0.809 2.89 15.9 8
0.152 0.730 2.54 15.5 10
0.242 1.159 573 / 9
0.199 0.919 3:83 / 12
0.188 0.859 3.28 1725} 1%
0.199 0.919 3.83 19.4 16
?‘z‘ﬁ]‘[ﬁ;ﬁ ) Kgem? 0.186 0.859 3.28 785 20
Moment of inertia 0.186 0.859 3.26 17.5 25
0.175 0.809 2.84 15.9 32
0.175 0.809 2.84 15.9 40
0.175 0.809 2.84 15.9 64
0.186 0.919 3.28 / 60
0.186 0.919 3.28 / 80
0.175 0.859 3.26 / 100
0.175 0.809 2.84 / 120
0.175 0.809 2.84 / 160
0.175 0.809 2.84 / 200
0.175 0.809 2.84 / 256
0.175 0.809 2.84 / 320
0.175 0.809 2.84 / 512
_ P®ESPoducttye [ [ 60 | 8 [ 120 [ 160 [ ¥ Numberofstage
— <30 <25 <25 <25 L1
Bzt _ <35 <30 <30 <30 2
<40 <35 <35 / L3
15 4.5 10 38 L1
LA Torsional stiffness N.M/arcmin 25 6.5 i3 43 L2
25 653 12 I L3
£ Noise db(A) 65 68 70 70
BN Max input speed min-1 4500 4500 4500 4500
HEFMNFEE Recommnd input speed min-1 3000 3000 3000 3000

1. BFBRESEANEEX,

The moment of inertia is related with input shaft.

2, IRFEIARAE, BEE1IK, FERMAFRE3000%/5 =HANE,

Noise test standard pressure level, distance 1 m, measured on idle running with an input speed of 3000rpm.

BOS



WP2E &S5 H1T 2 RUEL
WP2E series precision planetary reducer

B H1#Z%L Dimensions

i Output N Intput  (AfE)

L1

L3 L4
L8

S
S @ RBE—SREWE

B £ Unit: mm

7= @A S Product type WP2E60 WP2ES0 WP2E120 WP2E160
Z%¥ Number of stage L1 L2 L3 L1 L2 L3 L1 L2 L3 L1 L2
L1 #fk =4 L1 overall length 150 | 163 | 175.5|184.5 |202.5 | 220 |249.2| 277 |304.5| 368 4175
L3 &K & L3 body length 46.5 | 59.5 | 72 60 78 | 955 | 73.7 |101.5| 129 129 178.5
L12 Z& L12 overall hights 93 119.5 167.5 229

i % Output

L4 H#h4K B L4 output shaft length 35 40 55 87
L5 H#iK Z /5 L5 output length to the shaft shoulder 30.5 36 50 80

L6 #KE L6 key length 25 28 40 70

L7 & Z=4>KifmK L7 key length to the shaft end 25 4 5 5

L8 I & H1Z L8 spigot length 3 3 4 5

D4 H#E % D4 output shaft diameter $14h7 $20n7 $25h7 $40h7
D5 #iJ§ E& D5 shaft shouder diameter $17 $25 $35 $55
D6 Efiih &H & D6 spigot diameter $40n7 $60h7 $80h7 $130h7
D7 #§{k &2 D7 body diameter $60 $80 $115 $160
D8 %475 % [& D8 hole circle $52 $70 $100 $145
B1 %% B1 key width 5 6 8 12

H1 %5 H1 key height 16 22.5 28 43

G2 L2477 G2 mounting screw hole M5 x 8 M6 x 10 M10x 16 M12 x 20
G3 FME4FL G3 center screw hole M5 x 12 M6 x 16 M10 x 22 M12 x 25
By is Input

L2 EINRZHKE L2 input flange length 20 32 38 66

L9 E#%H E L9 motor shaft length 30 40 58 81
L10 LI &R L10 spigot depth 5 10 10 10
D1 %# 7% % E D1 mounting hole distribution circle $70 $90 $145 $200
D2 EfI & EH 7% D2 spigot diameter $50G7 $70G7 $110G7 $114.3G7
D3 #NHH12 D3 input shaft diameter < $14G7 < $19G7 < $24G7 < $35G7
G1 REWELFL x I®E G1 mounting threads x depth M5 x 12 M6 x 15 M8 x 22 M12x 25
Q3 ¥\ %2 Q3input flange 160 180 130 0175

BN R ST AR R LR ~HIME
Input size made according to motor size.

BOQ



WP2F R S5 21T EIBEHL

WP2F series precision planetary reducer

B Y12 % Dimensions

4 Output N Intput  (A)
L1
D7 L3 L4
L11 L8
6, [L7
EB[ 38
I L5
e e @ REE—RRRYE

B 47 Unit: mm

7= @ES Product type P2F60 P2F80 P2F120 P2F160
2% Number of stage L1 L2 | L3 | L1 L2 | L3 L1 L2 | L3 L1 L2
L1 #&k 24 L1 overall length 150 | 163 | 175.5|184.5|202.5| 220 |249.2| 277 |304.5| 368 417.5
L3 #5144 L3 body length 465 | 595 | 72 | 60 78 | 955 | 73.7 | 101.5| 129 129 178.5
L12 &7 L12 overall hights 93 119.5 167.5 229
% Output

L4 H#hHK B L4 output shaft length 35 40 55 87

L5 H#h E5/8 L5 output length to the shaft shoulder 30.5 36 50 80

L6 1K L6 key length 25 28 40 70

L7 #EH5RimI L7 key length to the shaft end 25 4 5 5

L8 E iz & H1Z L8 spigot length 3 3 4 5

L11 ¥ 3% =B & L11 output flange thickness 8 10 15 15

D4 H#hE7Z D4 output shaft diameter $14h7 $20h7 $25h7 $40h7
D5 %8 E12 D5 shaft shouder diameter $17 $25 $35 $55

D6 EfiI & H 1% D6 spigot diameter $50h7 $80h7 $110h7 $130h7
D7 #{& &% D7 body diameter 160 190 120 [1160/(1175
D8 L% 74> % & D8 hole circle $70 $100 $130 $185/$200
D9 %2 %% 7. D9 mounting hole $5.5 $6.5 $8.5 $11/$13.5
B1 3% B1 key width 5 6 8 12

H1 5 H1 key height 16 22.5 28 43

G3 F 2407l G3 center screw hole M5 x 12 M6 x 16 M10 x 22 M12 x 25
% Input

L2 BINEZKE L2 input flange length 32 32 38 66

L9 EH4HK E L9 motor shaft length 30 40 58 81

L10 LM &R L10 spigot depth 10 10 10 10

D1 2% 7.4 % B D1 mounting hole distribution circle $70 $90 $145 $200
D2 Efr & EE D2 spigot diameter $50G7 $70G7 $110G7 $114.3G7
D3 % \#%81% D3 input shaft diameter < $14G7 < $19G7 < $24G7 < $35G7
G1 R¥EBLFL x RE G1 mounting threads x depth M5 x 12 M6 x 15 M8 x 22 M12 x 25
Q3 HINi%EZ Q3input flange 160 180 1130 175

NI RSP ATR R AL R Tl

Input size made according to motor size.



{RIAR R AL Bz R ~F 3R

Servo motor corresponding size table

W RESR N IR Gearbox input

N0

DEG7
PDG7
M

B SN E=S5RERBNITMR TR Input flange servo motor matching table

MANEOERR

B11

Input interface adapter & e L 2 E B I
AQA40/1 46 M4 40 6 30 3 25
AQA40/2 45 M3 40 8 30 3 25
AQA40/3 47 M4 40 8 30 3 25
AQA40/4 48 M3 40 8 30 3 25
AQAB0/1 70 M4 60 11 50 3 30
AQA60/2 70 M4 60 14 50 3 30
AQAB0/3 70 M5 60 14 50 3 30
AQA80/1 90 M6 80 16 70 3 40
AQAB80/2 90 M5 80 19 70 3 35
AQAB80/3 90 M6 80 19 70 3 40
AQA90/1 100 M6 90 16 80 3 35
AQA90/2 100 M6 90 19 80 3 40
AQA90/3 100 M6 90 19 80 3 55

AQA100/1 115 M8 100 19 95 3 55
AQA100/2 115 M8 100 22 95 5 45
AQA100/3 115 M6 100 24 95 3 45
AQA100/4 115 M8 100 24 95 5 45
AQA130/1 145 M8 130 19 110 6 58
AQA130/2 130 M8 130 2e 110 3 519
AQA130/3 145 M8 130 22 110 6 58
AQA130/4 145 M8 130 22 110 6 70
AQA130/5 145 M8 130 24 110 3 B
AQA130/6 145 M8 130 24 110 6 65
AQA175/1 145 M8 175 28 110 3 63
AQA175/2 145 M8 175 28 110 6 65
AQA175/3 200 M12 175 35 114.3 10 65
AQA175/4 200 M12 175 35 114.3 10 80
AQA175/5 200 M12 175 42 114.3 10 113




R
ASSEMBLY

B ZEDiER P Assembly Procedure

BERBTRERARDEN, BRUTEGRITRE, ARIZORTESMERE, REEWH~RI, FLEIEMRITHEERES,

BEh, —EEEREITH

BHHERE B B3k

When the customer installs the servo motor by himself, please click on the main points to install it. The sizes of the servo motor are
various. Except for the specified products, some motors may not be able to connect to the flange.

1. 2T D IE Spec. In Case Of Assembling A Motor Without Key

OERTRENE, HIANM, ERELMETRTNAME . FRABRTERCRT,
Take off the rubber cap, tum the input shaft, and match the head of the bolt to the hole of the rubber cap. Make sure that the set

bolt is loosened.

@ DX FERBNBNBEHRAZEERBITBHEN). BERSEERZILDEMAEN,
Gradually put the motor shaft into the input shaft(Ensure that it is smoothly put in without iam) Be careful not to be inserted with the

motor tilted.

OB DIEEEEREN L, HiREENRERERITE, 32X

Attach the motor to the reducer and fasten the bolt with designated fastening torque. See Table 1

@ERAERFETR, RIEEHREBRNBNERERITE, ER2

Fasten the set bolt of the input shaft with designated fastening torque wrench, etc. See Table 2

&% LHREIE, RED LR,
Put on the rubber cap. It is the end of assembling.

H &1 Tablet

M3 1.0 10

M4 3.0 30
M5 5.8 60
M6 9.8 100
M8 19.6 200
M10 39.2 400
M12 68.6 700
M16 168 1650
B &2 Table2

M3 1.5 15

M4 3.5 35
M5 71 71

M6 ji2 120
M8 30 300
M10 60 612

TREADENENTE, TG LRATREDX—H#RE, THFROIBE,

P2/P3/WP2/WP3 &3 BiA % REE
Installation diagram of P2/P3/WP2/WP3 series motors

B12



2k
ASSEMBLY

B EEVIAIZIE Peducer Assembly

WRENZEAES LN, BERARKATEATERNSRE, ERAERTFEIARIEENAERERBEERE, SER4,

Joining wth reducer case of Joining a reducer with the device.make sure the that the combining side is plane without inconsistency.
and when assemble reducer outo equipment. ensuning assembly surface smooth and without buft. see Table 4.

B =4 Table4

LR E E R A #7% 4746 Fastening Torque
Reducer Combination Bolt (N.m) (kgf.cm)
M5 5.8 60
M6 9.8 100
M8 19.6 200
M10 39.2 400
M12 68.6 700
M16 168 1650

W EESHH Connection To The Output Shaft

EEE Cautions:
1, EHHH ERERAHR. BREN, B2EH M EENE X e 725,
When assemble a coupling, pulley, etc. onto the output shaft, make sure that excessive axial load not be given to the output shaft.
EERRIBMEIN, R EHRASREN N EBZ R RG
In case of strongly hitting the shaft with a hammer, the shaft inlet or the inside of the reducer may be damaged, therefore it shall
be prohibited.
3. RENBERENMIEEWFRANE, WHRSSHIEERE, REMBERMER.
If the shaft or key of a coupling assembled is loosed, it may cause carbonization, so be careful when assembling.
4, REBARER, HEABETEEREREEE,
For assembling of a coupling, fix the key with a set bolt.
5. EEMERMERBO
Please adjust shaft centre carefully in connecting.

N
’

2B

B13



